
othello quiz 2012 rollouts 
 

© 2012 itikawa 

Problem 1 

 ñ¡²±²¢ò 
 ðZAFAPA@ @PKPKFAð   
 ð[BGBQB@ @QLGLGBð    ð\CHCRC@ @RMHCHCð   
 ð]DIDID@ @IDIDIDð   
 ðÛEJEJE@ @JEJEJEð   
'ð      @ @ :  8 ð    ðejejej@ @ejejejð   
 ðdididi@ @xididið   
 ðchchch@ @whchchð   
 ðlgvgvg@ @vgvgbgð    ðkfufuf@ @ufupafð   
 ó£´³´¤ô 

  
 
score: 0 
pip: 115  

Unlimited Game 
Jacoby Beaver  

pip: 133 
score: 0 
 
   

       XGID=---aB-D-B-B-bE---c-ccab---:0:0:1:31:0:0:3:0:10  
 

1. Rollout1 6/3* 4/3 eq: -0.336 

 
Player: 

Opponent: 

41.29% (G:5.16% B:0.18%) 

58.71% (G:21.83% B:0.38%) 

Conf.: ± 0.016 (-0.353...-0.320) - [100.0%] 

Duration: 7 minutes 18 seconds  
2. Rollout1 6/3* 3/2 eq: -0.499 (-0.163) 

 
Player: 

Opponent: 

38.17% (G:4.39% B:0.18%) 

61.83% (G:20.75% B:0.37%) 

Conf.: ± 0.014 (-0.513...-0.485) - [0.0%] 

Duration: 7 minutes 06 seconds  
3. Rollout1 6/2 eq: -0.506 (-0.170) 

 
Player: 

Opponent: 

33.63% (G:2.62% B:0.06%) 

66.37% (G:7.82% B:0.14%) 

Conf.: ± 0.009 (-0.515...-0.496) - [0.0%] 

Duration: 4 minutes 56 seconds  
4. Rollout1 8/5 6/5 eq: -0.507 (-0.170) 

 
Player: 

Opponent: 

35.03% (G:3.74% B:0.12%) 

64.97% (G:13.50% B:0.17%) 

Conf.: ± 0.013 (-0.519...-0.494) - [0.0%] 

Duration: 6 minutes 32 seconds  
5. Rollout1 13/9 eq: -0.544 (-0.207) 

 
Player: 

Opponent: 

36.88% (G:3.68% B:0.13%) 

63.12% (G:19.99% B:0.23%) 

Conf.: ± 0.014 (-0.557...-0.530) - [0.0%] 

Duration: 6 minutes 35 seconds  
6. Rollout1 10/9 6/3*  eq: -0.622 (-0.285) 

 
Player: 

Opponent: 

38.63% (G:5.19% B:0.18%) 

61.37% (G:29.25% B:0.69%) 

Conf.: ± 0.015 (-0.636...-0.607) - [0.0%] 

Duration: 7 minutes 06 seconds  
7. Rollout1 13/10 6/5 eq: -0.642 (-0.306) 

 
Player: 

Opponent: 

33.81% (G:3.39% B:0.13%) 

66.19% (G:16.34% B:0.21%) 

Conf.: ± 0.014 (-0.656...-0.628) - [0.0%] 

Duration: 6 minutes 53 seconds  
  
1 1296 Games rolled with Variance Reduction. 

Dice Seed: 28981625 

Moves and cube decisions: 3-ply 

www.eXtremeGammon.com Version: 2.03  

 
 
 



othello quiz 2012 rollouts 
 

© 2012 itikawa 

Problem 2 

 ñ¡²±²¢ò 
 ðZAFKFK@ @PKFKZKð   
 ð[BGLGL@ @QLGL[Lð    ðHCHCHC@ @RCHCHCð   
 ðIDIDID@ @IDIDIDð   
 ðJEJEJE@ @JEJEJEð   
 ð      @ @ =  < ð    ðejejej@ @ejejejð   
 ðdidixi@ @xididið   
 ðchchwh@ @whchchð   
 ðbgbgvg@ @vgvgbgð   "ðafafuf@ @uzupapð   
 ó£´³´¤ô 

 
 
score: 2 
pip: 114  

7 point match 

pip: 141 
score: 0 
 
  

       XGID=-a-aBAD-D----B--b-bcb-bBb-:1:1:1:65:0:2:0:7:5  
 

1. Rollout1 8/2 6/1*  eq: -0.434 

 
Player: 

Opponent: 

32.30% (G:6.98% B:0.35%) 

67.70% (G:34.43% B:2.67%) 

Conf.: ± 0.010 (-0.444...-0.424) - [100.0%] 

Duration: 8 minutes 03 seconds  
2. Rollout1 8/2 8/3*  eq: -0.509 (-0.075) 

 
Player: 

Opponent: 

32.86% (G:6.76% B:0.46%) 

67.14% (G:43.24% B:4.49%) 

Conf.: ± 0.012 (-0.521...-0.497) - [0.0%] 

Duration: 9 minutes 06 seconds  
3. Rollout1 13/2 eq: -0.537 (-0.103) 

 
Player: 

Opponent: 

30.57% (G:5.87% B:0.37%) 

69.43% (G:37.12% B:3.03%) 

Conf.: ± 0.009 (-0.546...-0.528) - [0.0%] 

Duration: 7 minutes 16 seconds  
4. Rollout1 13/8 13/7 eq: -0.567 (-0.133) 

 
Player: 

Opponent: 

28.83% (G:4.97% B:0.31%) 

71.17% (G:33.93% B:1.96%) 

Conf.: ± 0.008 (-0.576...-0.559) - [0.0%] 

Duration: 7 minutes 20 seconds  
5. Rollout1 13/7 6/1*  eq: -0.622 (-0.188) 

 
Player: 

Opponent: 

30.54% (G:6.15% B:0.31%) 

69.46% (G:44.10% B:4.63%) 

Conf.: ± 0.010 (-0.632...-0.612) - [0.0%] 

Duration: 7 minutes 38 seconds  
6. Rollout1 13/7 8/3*  eq: -0.648 (-0.214) 

 
Player: 

Opponent: 

31.08% (G:5.94% B:0.28%) 

68.92% (G:48.08% B:5.79%) 

Conf.: ± 0.010 (-0.658...-0.639) - [0.0%] 

Duration: 7 minutes 49 seconds  
7. Rollout1 23/17 8/3*  eq: -0.697 (-0.263) 

 
Player: 

Opponent: 

29.56% (G:7.97% B:0.77%) 

70.44% (G:52.82% B:4.68%) 

Conf.: ± 0.010 (-0.707...-0.687) - [0.0%] 

Duration: 6 minutes 06 seconds  
8. Rollout1 23/17 6/1*  eq: -0.729 (-0.295) 

 
Player: 

Opponent: 

28.51% (G:7.02% B:0.51%) 

71.49% (G:50.93% B:3.43%) 

Conf.: ± 0.009 (-0.738...-0.721) - [0.0%] 

Duration: 5 minutes 54 seconds  
9. Rollout1 23/12 eq: -0.784 (-0.350) 

 
Player: 

Opponent: 

26.95% (G:6.51% B:0.43%) 

73.05% (G:52.03% B:1.77%) 

Conf.: ± 0.009 (-0.793...-0.775) - [0.0%] 

Duration: 5 minutes 38 seconds  
10. Rollout1 23/17 13/8 eq: -1.094 (-0.660) 

 
Player: 

Opponent: 

21.08% (G:4.90% B:0.41%) 

78.92% (G:60.14% B:7.50%) 

Conf.: ± 0.009 (-1.103...-1.085) - [0.0%] 

Duration: 4 minutes 48 seconds  



othello quiz 2012 rollouts 
 

© 2012 itikawa 

Problem 3 

 ñ¡²±²¢ò 
 ðZAPKPK@ @PAZAFAð   
 ðGBQLQL@ @QB[BGBð    ðHCHCHC@ @RCHCHCð   
 ðIDIDID@ @SDIDIDð   
 ðJEJEJE@Û@ÐEJEJEð   
'ð      @ @ =  < ð    ðejejej@ @ejejejð   
 ðdididi@ @dididið   
 ðchchc|@ @whchchð   
 ðbgbgb{@ @v{b{bgð    ðazafkz@ @uzazapð   
 ó£´³´¤ô 

 

 

score: 1 

pip: 139  

5 point match 

pip: 146 

score: 0 

 

  
 

       XGID=-a-B-BCCa--A-A-bbbbe-B---A:0:0:1:65:0:1:0:5:5  

 

1. Rollout1 Bar/14 eq: -0.418 

 
Player: 

Opponent: 

40.34% (G:9.51% B:0.46%) 

59.66% (G:11.62% B:0.66%) 

Conf.: ± 0.020 (-0.438...-0.398) - [100.0%] 

Duration: 7 minutes 39 seconds  
2. Rollout1 Bar/20 13/7 eq: -0.523 (-0.106) 

 
Player: 

Opponent: 

37.92% (G:8.71% B:0.38%) 

62.08% (G:10.88% B:0.60%) 

Conf.: ± 0.017 (-0.541...-0.506) - [0.0%] 

Duration: 6 minutes 30 seconds  
3. Rollout1 Bar/20 11/5 eq: -0.552 (-0.134) 

 
Player: 

Opponent: 

37.13% (G:8.76% B:0.43%) 

62.87% (G:11.48% B:0.43%) 

Conf.: ± 0.017 (-0.569...-0.535) - [0.0%] 

Duration: 5 minutes 35 seconds  
4. Rollout1 Bar/20 7/1*  eq: -0.664 (-0.246) 

 
Player: 

Opponent: 

34.55% (G:9.69% B:0.41%) 

65.45% (G:14.58% B:1.41%) 

Conf.: ± 0.037 (-0.701...-0.627) - [0.0%] 

Duration: 10 minutes 42 seconds  
  
1 1296 Games rolled with Variance Reduction. 

Dice Seed: 28981625 

Moves and cube decisions: 3-ply 

www.eXtremeGammon.com Version: 2.03, MET: Rockwell-Kazaross  

 

 

 

 

 



othello quiz 2012 rollouts 
 

© 2012 itikawa 

Problem 4 

 ñ¡²±²¢ò 
 ðZAFAFA@ @ZAFAFAðæ  
 ðGBGBGB@ @GBGBGBðæ   ðHCHCHC@ @HCHCHCðé  
 ðIDIDID@ @IDIDIDð   
 ðJEJEJE@ @JEJEJEð   
'ð      @ @ =  8 ð    ðejejej@ @ejejejð   
 ðdididi@ @dididið   
 ðchchch@ @whcrchð   
 ðbgbgvg@ @v{vqv{ð    ðafafuf@ @uzupuzð   
 ó£´³´¤ô 

 
 
score: 4 
pip: 66  

7 point match 

pip: 90 
score: 3 
 
   

       XGID=-BBcBBC-B----A-----A------:0:0:1:61:3:4:0:7:10  
 

1. Rollout1 19/13 8/7 eq: +0.120 

 
Player: 

Opponent: 

54.01% (G:0.00% B:0.00%) 

45.99% (G:5.07% B:0.91%) 

Conf.: ± 0.026 (+0.094...+0.147) - [100.0%] 

Duration: 2 minutes 36 seconds  
2. Rollout1 13/12 8/2 eq: -0.019 (-0.139) 

 
Player: 

Opponent: 

49.32% (G:0.00% B:0.00%) 

50.68% (G:3.88% B:0.56%) 

Conf.: ± 0.028 (-0.047...+0.010) - [0.0%] 

Duration: 1 minute 41 seconds  
3. Rollout1 13/7 5/4 eq: -0.027 (-0.147) 

 
Player: 

Opponent: 

49.59% (G:0.00% B:0.00%) 

50.41% (G:5.53% B:0.89%) 

Conf.: ± 0.026 (-0.053...0.000) - [0.0%] 

Duration: 2 minutes 31 seconds  
4. Rollout1 13/7 6/5 eq: -0.027 (-0.148) 

 
Player: 

Opponent: 

48.94% (G:0.00% B:0.00%) 

51.06% (G:3.95% B:0.57%) 

Conf.: ± 0.026 (-0.053...-0.002) - [0.0%] 

Duration: 1 minute 57 seconds  
5. Rollout1 13/7 8/7 eq: -0.029 (-0.150) 

 
Player: 

Opponent: 

48.81% (G:0.00% B:0.00%) 

51.19% (G:3.98% B:0.59%) 

Conf.: ± 0.026 (-0.055...-0.003) - [0.0%] 

Duration: 1 minute 09 seconds  
6. Rollout1 19/18 13/7 eq: -0.032 (-0.152) 

 
Player: 

Opponent: 

48.87% (G:0.00% B:0.00%) 

51.13% (G:4.01% B:0.70%) 

Conf.: ± 0.025 (-0.057...-0.007) - [0.0%] 

Duration: 1 minute 44 seconds  
7. Rollout1 19/18 8/2 eq: -0.064 (-0.185) 

 
Player: 

Opponent: 

48.32% (G:0.00% B:0.00%) 

51.68% (G:3.97% B:0.60%) 

Conf.: ± 0.025 (-0.089...-0.040) - [0.0%] 

Duration: 1 minute 47 seconds  
8. Rollout1 19/12 eq: -0.065 (-0.186) 

 
Player: 

Opponent: 

47.81% (G:0.00% B:0.00%) 

52.19% (G:3.64% B:0.57%) 

Conf.: ± 0.025 (-0.091...-0.040) - [0.0%] 

Duration: 1 minute 19 seconds  
9. Rollout1 8/2 6/5 eq: -0.068 (-0.189) 

 
Player: 

Opponent: 

47.94% (G:0.00% B:0.00%) 

52.06% (G:3.56% B:0.48%) 

Conf.: ± 0.025 (-0.093...-0.043) - [0.0%] 

Duration: 1 minute 26 seconds  
10. Rollout1 8/7 8/2 eq: -0.069 (-0.189) 

 
Player: 

Opponent: 

48.08% (G:0.00% B:0.00%) 

51.92% (G:3.75% B:0.61%) 

Conf.: ± 0.026 (-0.095...-0.043) - [0.0%] 

Duration: 1 minute 19 seconds  



othello quiz 2012 rollouts 
 

© 2012 itikawa 

11. Rollout1 8/1 eq: -0.069 (-0.190) 

 
Player: 

Opponent: 

48.24% (G:0.00% B:0.00%) 

51.76% (G:4.18% B:0.66%) 

Conf.: ± 0.027 (-0.096...-0.043) - [0.0%] 

Duration: 1 minute 02 seconds  
12. Rollout1 19/13 5/4 eq: -0.073 (-0.194) 

 
Player: 

Opponent: 

47.60% (G:0.00% B:0.00%) 

52.40% (G:5.09% B:0.88%) 

Conf.: ± 0.028 (-0.101...-0.046) - [0.0%] 

Duration: 1 minute 38 seconds  
13. Rollout1 13/7 2/1 eq: -0.078 (-0.199) 

 
Player: 

Opponent: 

47.74% (G:0.00% B:0.00%) 

52.26% (G:4.53% B:0.99%) 

Conf.: ± 0.025 (-0.103...-0.053) - [0.0%] 

Duration: 1 minute 51 seconds  
14. Rollout1 19/13 6/5 eq: -0.109 (-0.230) 

 
Player: 

Opponent: 

46.24% (G:0.00% B:0.00%) 

53.76% (G:3.24% B:0.47%) 

Conf.: ± 0.024 (-0.133...-0.085) - [0.0%] 

Duration: 1 minute 02 seconds  
15. Rollout1 8/2 5/4 eq: -0.138 (-0.258) 

 
Player: 

Opponent: 

47.24% (G:0.00% B:0.00%) 

52.76% (G:6.72% B:1.44%) 

Conf.: ± 0.029 (-0.167...-0.109) - [0.0%] 

Duration: 2 minutes 42 seconds  
  
1 1296 Games rolled with Variance Reduction. 

Dice Seed: 28981625 

Moves and cube decisions: 3-ply 

www.eXtremeGammon.com Version: 2.03, MET: Rockwell-Kazaross  

 

 

 

 

 

 

 

 

 

 

 



othello quiz 2012 rollouts 
 

© 2012 itikawa 

 Problem 5  

 ñ¡²±²¢ò 
 ðZAFKPA@ @PAPAFUð   
 ð[BGBGB@ @QBQBGVð    ð\CHCHC@ @RCHCHCð   
 ð]DIDID@ @SDIDIDð   
 ðÛEJEJE@ @ÐEJEJEð   
'ð      @ @ =  ; ð    ðejejej@ @ejejejð   
 ðnididi@ @xididið   
 ðmhchwh@ @whchchð   
 ðlgbgvg@ @vglgbgð    ðkfafuf@ @ufkfazð   
 ó£´³´¤ô 

 
 
score: 5 
pip: 149  

7 point match 

pip: 162 
score: 1 
 
  

       XGID=-A--b-D-C---dE--aa-e-b--B-:0:0:1:64:1:5:0:7:10  
 

1. Rollout1 24/20 13/7 eq: -0.414 

 
Player: 

Opponent: 

37.24% (G:8.91% B:0.30%) 

62.76% (G:28.04% B:3.50%) 

Conf.: ± 0.016 (-0.430...-0.398) - [100.0%] 

Duration: 13 minutes 36 seconds  
2. Rollout1 13/3 eq: -0.491 (-0.077) 

 
Player: 

Opponent: 

34.95% (G:7.74% B:0.24%) 

65.05% (G:26.18% B:2.94%) 

Conf.: ± 0.013 (-0.504...-0.478) - [0.0%] 

Duration: 10 minutes 22 seconds  
3. Rollout1 24/14 eq: -0.498 (-0.084) 

 
Player: 

Opponent: 

35.72% (G:6.59% B:0.28%) 

64.28% (G:26.73% B:3.08%) 

Conf.: ± 0.014 (-0.512...-0.484) - [0.0%] 

Duration: 11 minutes 31 seconds  
4. Rollout1 13/9 13/7 eq: -0.504 (-0.090) 

 
Player: 

Opponent: 

34.56% (G:7.98% B:0.28%) 

65.44% (G:27.78% B:6.99%) 

Conf.: ± 0.015 (-0.519...-0.489) - [0.0%] 

Duration: 12 minutes 06 seconds  
5. Rollout1 24/20 8/2 eq: -0.525 (-0.111) 

 
Player: 

Opponent: 

34.76% (G:8.02% B:0.23%) 

65.24% (G:29.37% B:4.09%) 

Conf.: ± 0.015 (-0.540...-0.510) - [0.0%] 

Duration: 12 minutes 59 seconds  
6. Rollout1 8/2 6/2 eq: -0.536 (-0.122) 

 
Player: 

Opponent: 

34.10% (G:7.42% B:0.23%) 

65.90% (G:27.01% B:3.68%) 

Conf.: ± 0.014 (-0.549...-0.522) - [0.0%] 

Duration: 9 minutes 51 seconds  
7. Rollout1 13/7 6/2 eq: -0.553 (-0.139) 

 
Player: 

Opponent: 

33.12% (G:7.40% B:0.24%) 

66.88% (G:26.44% B:5.41%) 

Conf.: ± 0.014 (-0.567...-0.538) - [0.0%] 

Duration: 11 minutes 26 seconds  
8. Rollout1 24/18 13/9 eq: -0.562 (-0.148) 

 
Player: 

Opponent: 

34.17% (G:7.70% B:0.26%) 

65.83% (G:31.54% B:5.67%) 

Conf.: ± 0.016 (-0.577...-0.546) - [0.0%] 

Duration: 13 minutes 31 seconds  
9. Rollout1 24/18 6/2 eq: -0.585 (-0.171) 

 
Player: 

Opponent: 

34.04% (G:7.37% B:0.24%) 

65.96% (G:31.38% B:4.04%) 

Conf.: ± 0.015 (-0.600...-0.569) - [0.0%] 

Duration: 12 minutes 28 seconds  
10. Rollout1 13/9 8/2 eq: -0.587 (-0.173) 

 
Player: 

Opponent: 

32.45% (G:7.53% B:0.21%) 

67.55% (G:27.17% B:5.45%) 

Conf.: ± 0.015 (-0.601...-0.572) - [0.0%] 

Duration: 10 minutes 56 seconds  



othello quiz 2012 rollouts 
 

© 2012 itikawa 

Problem 6 

 ñ¡²±²¢ò 
 ðFAPKPA@ @PKZUPKð   
 ðGBQLQB@ @QB[VQLð   
 ðHCHMHC@ @RCHCHCð    ðIDIDID@ @IDIDIDð   
 ðJEJEJE@ @JEJEJEð   
'ð      @ @ :  9 ð   
 ðejejej@ @ejejejð    ðdididi@ @dididið   
 ðchchch@ @whchchð   
 ðbgvgvg@ @v{b{bgð   
 ðafufuf@ @uzazafð    ó£´³´¤ô 

 
 
score: 3 
pip: 92  

7 point match 

pip: 156 
score: 3 
 
   

       XGID=---B-BC-B-B----bcb-caBBbb-:0:0:1:32:3:3:0:7:3  
 

1. Rollout1 10/7 6/4 eq: -0.164 

 
Player: 

Opponent: 

48.20% (G:9.01% B:0.59%) 

51.80% (G:15.72% B:0.43%) 

Conf.: ± 0.017 (-0.181...-0.147) - [100.0%] 

Duration: 4 minutes 01 second  
2. Rollout1 8/5 6/4 eq: -0.240 (-0.076) 

 
Player: 

Opponent: 

46.21% (G:8.30% B:0.45%) 

53.79% (G:16.11% B:0.52%) 

Conf.: ± 0.016 (-0.256...-0.224) - [0.0%] 

Duration: 3 minutes 31 seconds  
3. Rollout1 10/5 eq: -0.284 (-0.120) 

 
Player: 

Opponent: 

45.05% (G:8.13% B:0.53%) 

54.95% (G:16.44% B:0.53%) 

Conf.: ± 0.017 (-0.300...-0.267) - [0.0%] 

Duration: 2 minutes 47 seconds  
4. Rollout1 10/8 10/7 eq: -0.286 (-0.122) 

 
Player: 

Opponent: 

45.22% (G:8.12% B:0.46%) 

54.78% (G:17.34% B:0.50%) 

Conf.: ± 0.017 (-0.303...-0.269) - [0.0%] 

Duration: 3 minutes 30 seconds  
5. Rollout1 22/20* 10/7 eq: -0.299 (-0.135) 

 
Player: 

Opponent: 

45.29% (G:12.20% B:0.85%) 

54.71% (G:26.82% B:1.69%) 

Conf.: ± 0.019 (-0.318...-0.279) - [0.0%] 

Duration: 6 minutes 00 second  
6. Rollout1 10/7 8/6 eq: -0.337 (-0.173) 

 
Player: 

Opponent: 

44.44% (G:7.59% B:0.43%) 

55.56% (G:16.84% B:0.82%) 

Conf.: ± 0.017 (-0.354...-0.320) - [0.0%] 

Duration: 4 minutes 34 seconds  
7. Rollout1 22/20* 8/5 eq: -0.343 (-0.179) 

 
Player: 

Opponent: 

43.11% (G:11.43% B:0.83%) 

56.89% (G:22.74% B:1.04%) 

Conf.: ± 0.020 (-0.363...-0.323) - [0.0%] 

Duration: 5 minutes 30 seconds  
8. Rollout1 8/6 8/5 eq: -0.350 (-0.186) 

 
Player: 

Opponent: 

43.30% (G:7.59% B:0.28%) 

56.70% (G:16.35% B:0.66%) 

Conf.: ± 0.017 (-0.366...-0.333) - [0.0%] 

Duration: 4 minutes 04 seconds  
9. Rollout1 8/3 eq: -0.367 (-0.203) 

 
Player: 

Opponent: 

43.13% (G:7.42% B:0.34%) 

56.87% (G:17.08% B:0.71%) 

Conf.: ± 0.017 (-0.384...-0.351) - [0.0%] 

Duration: 3 minutes 12 seconds  
10. Rollout1 22/20* 6/3 eq: -0.369 (-0.205) 

 
Player: 

Opponent: 

42.83% (G:10.94% B:0.68%) 

57.17% (G:20.28% B:1.18%) 

Conf.: ± 0.018 (-0.387...-0.351) - [0.0%] 

Duration: 5 minutes 37 seconds  



othello quiz 2012 rollouts 
 

© 2012 itikawa 

11. Rollout1 22/20* 21/18 eq: -0.372 (-0.208) 

 
Player: 

Opponent: 

43.40% (G:11.78% B:0.71%) 

56.60% (G:26.93% B:2.00%) 

Conf.: ± 0.019 (-0.391...-0.353) - [0.0%] 

Duration: 4 minutes 55 seconds  
12. Rollout1 6/4 5/2 eq: -0.379 (-0.215) 

 
Player: 

Opponent: 

43.47% (G:6.89% B:0.32%) 

56.53% (G:17.42% B:0.73%) 

Conf.: ± 0.017 (-0.396...-0.362) - [0.0%] 

Duration: 3 minutes 57 seconds  
  
1 1296 Games rolled with Variance Reduction. 

Dice Seed: 28981625 

Moves and cube decisions: 3-ply 

www.eXtremeGammon.com Version: 2.03, MET: Rockwell-Kazaross  
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Problem 7 

 ñ¡²±²¢ò 
 ðZAFKPA@ @PUFKFKð   
 ð[BGLQB@ @QVGLGLð   
 ðHCHCHC@ @HCHCHCð    ðIDIDID@ @IDIDIDð   
 ðJEJEJE@ @JEJEJEð   
'ð      @ @ =  < ð   
 ðejejej@ @ejejejð    ðdidixi@ @dididið   
 ðmhchwh@ @whchchð   
 ðlgbgvg@ @vgvgvgð   
 ðkpafuf@ @ufufupð    ó£´³´¤ô 

 
 
score: 1 
pip: 131  

5 point match 

pip: 128 
score: 0 
 
   

       XGID=-aB-B-C-D--acB--bb-bB-b-b-:0:0:1:65:0:1:0:5:10  
 

1. Rollout1 8/2 6/1*  eq: +0.182 

 
Player: 

Opponent: 

52.27% (G:18.33% B:0.27%) 

47.73% (G:9.80% B:0.62%) 

Conf.: ± 0.015 (+0.168...+0.197) - [100.0%] 

Duration: 5 minutes 41 seconds  
2. Rollout1 20/9 eq: +0.108 (-0.074) 

 
Player: 

Opponent: 

54.43% (G:15.52% B:0.87%) 

45.57% (G:14.15% B:0.44%) 

Conf.: ± 0.014 (+0.094...+0.122) - [0.0%] 

Duration: 5 minutes 13 seconds  
3. Rollout1 8/3 8/2 eq: +0.021 (-0.162) 

 
Player: 

Opponent: 

50.64% (G:14.78% B:0.29%) 

49.36% (G:8.94% B:0.44%) 

Conf.: ± 0.012 (+0.008...+0.033) - [0.0%] 

Duration: 5 minutes 06 seconds  
4. Rollout1 13/7 6/1*  eq: -0.041 (-0.224) 

 
Player: 

Opponent: 

47.34% (G:15.62% B:0.26%) 

52.66% (G:11.63% B:0.44%) 

Conf.: ± 0.010 (-0.051...-0.032) - [0.0%] 

Duration: 3 minutes 43 seconds  
5. Rollout1 20/14 6/1*  eq: -0.075 (-0.257) 

 
Player: 

Opponent: 

48.16% (G:17.20% B:0.66%) 

51.84% (G:20.44% B:1.03%) 

Conf.: ± 0.011 (-0.086...-0.064) - [0.0%] 

Duration: 3 minutes 38 seconds  
6. Rollout1 13/8 13/7 eq: -0.189 (-0.371) 

 
Player: 

Opponent: 

45.66% (G:9.27% B:0.17%) 

54.34% (G:5.88% B:0.25%) 

Conf.: ± 0.011 (-0.200...-0.178) - [0.0%] 

Duration: 5 minutes 37 seconds  
7. Rollout1 20/15 8/2 eq: -0.256 (-0.438) 

 
Player: 

Opponent: 

46.17% (G:13.88% B:0.62%) 

53.83% (G:21.54% B:0.61%) 

Conf.: ± 0.013 (-0.268...-0.243) - [0.0%] 

Duration: 4 minutes 12 seconds  
8. Rollout1 13/2 eq: -0.284 (-0.466) 

 
Player: 

Opponent: 

43.36% (G:8.12% B:0.17%) 

56.64% (G:6.96% B:0.26%) 

Conf.: ± 0.011 (-0.295...-0.273) - [0.0%] 

Duration: 5 minutes 12 seconds  
9. Rollout1 20/15 20/14 eq: -0.318 (-0.501) 

 
Player: 

Opponent: 

46.30% (G:10.32% B:0.51%) 

53.70% (G:21.72% B:0.45%) 

Conf.: ± 0.012 (-0.330...-0.307) - [0.0%] 

Duration: 4 minutes 34 seconds  
  

  



othello quiz 2012 rollouts 
 

© 2012 itikawa 

Problem 8 

 ñ¡²±²¢ò 
 ðZAFAPK@ @PKFAZAð   
 ð[BGBQL@ @QLGBGBð   
 ðHCHCHM@ @HCHCHCð    ðIDIDIN@ @IDIDIDð   
 ðJEJEJE@ @JEJEJEð   
'ð      @ @ ;  9 ð   
 ðejejej@Ð@ejejejð    ðdididi@ @dididið   
 ðchchch@ @chchchð   
 ðbgbgvq@ @v{l{vgð   
 ðazafup@ @uzkzuzð    ó£´³´¤ô 

 
 
score: 1 
pip: 169  

7 point match 

pip: 109 
score: 3 
 
   

       XGID=aABBbBBbB--A-B---bdbb--A--:0:0:1:42:3:1:0:7:10  
 

1. Rollout1 23/21 5/1 eq: +0.217 

 
Player: 

Opponent: 

50.85% (G:26.03% B:0.46%) 

49.15% (G:12.85% B:0.65%) 

Conf.: ± 0.012 (+0.205...+0.229) - [100.0%] 

Duration: 3 minutes 57 seconds  
2. Rollout1 11/5 eq: +0.041 (-0.176) 

 
Player: 

Opponent: 

48.60% (G:24.73% B:1.17%) 

51.40% (G:11.56% B:0.55%) 

Conf.: ± 0.021 (+0.019...+0.062) - [0.0%] 

Duration: 8 minutes 36 seconds  
3. Rollout1 13/9 11/9 eq: -0.074 (-0.291) 

 
Player: 

Opponent: 

46.17% (G:21.66% B:1.35%) 

53.83% (G:12.30% B:0.60%) 

Conf.: ± 0.020 (-0.095...-0.054) - [0.0%] 

Duration: 7 minutes 51 seconds  
4. Rollout1 13/11 13/9 eq: -0.109 (-0.326) 

 
Player: 

Opponent: 

45.36% (G:22.19% B:1.08%) 

54.64% (G:12.77% B:0.65%) 

Conf.: ± 0.024 (-0.133...-0.084) - [0.0%] 

Duration: 8 minutes 40 seconds  
5. Rollout1 23/21 13/9 eq: -0.136 (-0.353) 

 
Player: 

Opponent: 

45.12% (G:24.03% B:1.34%) 

54.88% (G:17.47% B:1.36%) 

Conf.: ± 0.023 (-0.159...-0.114) - [0.0%] 

Duration: 9 minutes 24 seconds  
6. Rollout1 13/11 5/1 eq: -0.195 (-0.412) 

 
Player: 

Opponent: 

43.72% (G:22.73% B:1.01%) 

56.28% (G:14.88% B:0.76%) 

Conf.: ± 0.020 (-0.216...-0.175) - [0.0%] 

Duration: 7 minutes 36 seconds  
  
1 1296 Games rolled with Variance Reduction. 

Dice Seed: 28981625 

Moves and cube decisions: 3-ply 

www.eXtremeGammon.com Version: 2.03, MET: Rockwell-Kazaross  

 

 

 

 



othello quiz 2012 rollouts 
 

© 2012 itikawa 

Problem 9 

 ñ¡²±²¢ò 
 ðFAFAFA@ @PUPKZKð   
 ðGBGBGB@ @QVQL[Lð   
 ðHCHCHC@ @RCRMHCð    ðIDIDID@ @IDSNIDð   
 ðJEJEJE@ @JEJÐJEð   
'ð      @ @ :  8 ð   
 ðejejej@ @ejejejð    ðdididi@ @dididið   
 ðchchch@ @w|chchð   
 ðbgbgb{@ @v{b{bgð   
 ðafufaz@ @uzazkfð    ó£´³´¤ô 

 
 
score: 0 
pip: 74  

5 point match 

pip: 149 
score: 0 
 
   

       XGID=--aB-CCB--A--------cBdeBb-:0:0:1:31:0:0:0:5:3  
 

1. Rollout1 20/16 eq: +0.083 

 
Player: 

Opponent: 

55.14% (G:8.65% B:0.30%) 

44.86% (G:22.08% B:0.77%) 

Conf.: ± 0.011 (+0.072...+0.095) - [100.0%] 

Duration: 3 minutes 53 seconds  
2. Rollout1 6/2*  eq: -0.026 (-0.109) 

 
Player: 

Opponent: 

53.16% (G:7.22% B:0.25%) 

46.84% (G:26.08% B:1.06%) 

Conf.: ± 0.015 (-0.041...-0.011) - [0.0%] 

Duration: 5 minutes 04 seconds  
3. Rollout1 20/17 10/9 eq: -0.045 (-0.128) 

 
Player: 

Opponent: 

52.23% (G:7.80% B:0.29%) 

47.77% (G:23.91% B:1.03%) 

Conf.: ± 0.011 (-0.056...-0.033) - [0.0%] 

Duration: 3 minutes 42 seconds  
4. Rollout1 20/17 6/5 eq: -0.045 (-0.129) 

 
Player: 

Opponent: 

51.49% (G:7.63% B:0.27%) 

48.51% (G:23.35% B:0.83%) 

Conf.: ± 0.012 (-0.057...-0.033) - [0.0%] 

Duration: 3 minutes 58 seconds  
5. Rollout1 10/9 5/2*  eq: -0.099 (-0.183) 

 
Player: 

Opponent: 

51.65% (G:7.22% B:0.24%) 

48.35% (G:27.41% B:1.03%) 

Conf.: ± 0.014 (-0.114...-0.085) - [0.0%] 

Duration: 5 minutes 12 seconds  
6. Rollout1 20/17 5/4 eq: -0.101 (-0.185) 

 
Player: 

Opponent: 

51.84% (G:8.17% B:0.38%) 

48.16% (G:30.80% B:1.49%) 

Conf.: ± 0.014 (-0.115...-0.088) - [0.0%] 

Duration: 4 minutes 25 seconds  
7. Rollout1 10/6 eq: -0.112 (-0.196) 

 
Player: 

Opponent: 

50.39% (G:6.81% B:0.24%) 

49.61% (G:20.02% B:0.62%) 

Conf.: ± 0.012 (-0.125...-0.100) - [0.0%] 

Duration: 3 minutes 12 seconds  
8. Rollout1 10/7 5/4 eq: -0.132 (-0.215) 

 
Player: 

Opponent: 

51.43% (G:7.58% B:0.27%) 

48.57% (G:26.29% B:0.78%) 

Conf.: ± 0.013 (-0.144...-0.119) - [0.0%] 

Duration: 4 minutes 08 seconds  
9. Rollout1 7/4 5/4 eq: -0.134 (-0.217) 

 
Player: 

Opponent: 

51.04% (G:6.30% B:0.20%) 

48.96% (G:29.02% B:1.38%) 

Conf.: ± 0.014 (-0.148...-0.120) - [0.0%] 

Duration: 4 minutes 43 seconds  
  

  



othello quiz 2012 rollouts 
 

© 2012 itikawa 

Problem 10 

 ñ¡²±²¢ò 
 ðZUFAZA@ @PAZKPKð   
 ð[BGBGB@ @QB[LQLð   
 ð\CHCHC@ @RCHMHCð    ð]DIDID@ @SDIDIDð   
 ðJEJEJE@ @ÐEJEJEð   
'ð      @ @ 9  9 ð   
 ðejejej@ @ejejejð    ðdididi@ @dididið   
 ðchchcr@ @whchchð   
 ðbgbgbq@ @v{b{bgð   
 ðafafap@ @uzazafð    ó£´³´¤ô 

 
 
score: 5 
pip: 99  

7 point match 

pip: 159 
score: 3 
 
   

       XGID=---B-BCc-----DA--A-e-Bcbb-:0:0:1:22:3:5:0:7:5  
 

1. Rollout1 13/11(2) 6/4(2) eq: +0.568 

 
Player: 

Opponent: 

55.55% (G:16.10% B:1.25%) 

44.45% (G:23.21% B:0.82%) 

Conf.: ± 0.021 (+0.547...+0.590) - [100.0%] 

Duration: 8 minutes 18 seconds  
2. Rollout1 17/11 13/11 eq: +0.441 (-0.127) 

 
Player: 

Opponent: 

53.21% (G:14.25% B:0.86%) 

46.79% (G:19.61% B:0.66%) 

Conf.: ± 0.019 (+0.422...+0.460) - [0.0%] 

Duration: 7 minutes 46 seconds  
3. Rollout1 17/15 13/11(2) 6/4 eq: +0.406 (-0.163) 

 
Player: 

Opponent: 

53.01% (G:14.90% B:1.01%) 

46.99% (G:25.46% B:1.22%) 

Conf.: ± 0.023 (+0.382...+0.429) - [0.0%] 

Duration: 7 minutes 52 seconds  
4. Rollout1 13/9(2) eq: +0.365 (-0.203) 

 
Player: 

Opponent: 

51.49% (G:14.39% B:0.85%) 

48.51% (G:23.60% B:1.32%) 

Conf.: ± 0.019 (+0.346...+0.384) - [0.0%] 

Duration: 8 minutes 10 seconds  
5. Rollout1 14/10 13/11(2) eq: +0.310 (-0.258) 

 
Player: 

Opponent: 

51.68% (G:14.11% B:0.67%) 

48.32% (G:25.52% B:1.30%) 

Conf.: ± 0.020 (+0.290...+0.330) - [0.0%] 

Duration: 7 minutes 49 seconds  
6. Rollout1 14/12 13/11(2) 6/4 eq: +0.287 (-0.282) 

 
Player: 

Opponent: 

51.27% (G:14.54% B:0.95%) 

48.73% (G:28.58% B:1.72%) 

Conf.: ± 0.023 (+0.264...+0.310) - [0.0%] 

Duration: 8 minutes 43 seconds  
7. Rollout1 14/6 eq: +0.284 (-0.285) 

 
Player: 

Opponent: 

49.90% (G:12.63% B:0.77%) 

50.10% (G:20.88% B:0.51%) 

Conf.: ± 0.017 (+0.267...+0.301) - [0.0%] 

Duration: 7 minutes 13 seconds  
  
1 1296 Games rolled with Variance Reduction. 

Dice Seed: 28981625 

Moves and cube decisions: 3-ply 

www.eXtremeGammon.com Version: 2.03, MET: Rockwell-Kazaross  

 


